
 
 

        B.Sc  5
th 

Semester (General) Examination, 2020 (CBCS) 

Subject: Chemistry 

(Basics and Application of Computer in Chemistry) 

    Paper: SEC-3 

Time: 2 Hours Full Marks: 40 

         Candidates are required to give their answers in their own words as far as practicable  

Answer any eight questions         8 x 5=40 

1.  Calculate the slope and intercept of the straight line obtained with the following coordinates 

by linear regression method. 

x 1 2 3 4 5 

y 3 4 5 6 8 
 

Linear regression পদ্ধতি বযবহার করর তিম্নত঱তিি অক্ষমাি সমূরহর দ্বারা প্রাপ্ত সর঱ররিার িতি ও ছেতিিাাংল 
তির্ণয় কর। 

x 1 2 3 4 5 

y 3 4 5 6 8 

 

2.  Find out the standard deviation, coefficient of variation and variance of a series of 

experimental results with values: 8.98, 9.25, 9.66, 10.08, 10.25. 

 8.98, 9.25, 9.66, 10.08, 10.25 মাি তবতলষ্ট একসাতর পরীক্ষা঱ব্ধ ফ঱াফ঱ সমূরহর প্রমার্ তবচ্য যতি, ছভিাঙ্ক এবাং 
ছভিমারির মাি তির্ণয় কর। 

3.  Calculate 
𝑑𝑦

𝑑𝑥
when 𝑦 = log𝑒 log𝑒 𝑥 . Prove that  log𝑏 𝑎 × log𝑐 𝑏 × log𝑎 𝑐 = 1 

          𝑦 = log𝑒 log𝑒 𝑥 এর ছক্ষরে 
𝑑𝑦

𝑑𝑥
 এর মাি তির্ণয় কর। প্রমাি কর log𝑏 𝑎 × log𝑐 𝑏 × log𝑎 𝑐 = 1 

4.  Find the root of the equation 𝑓 𝑥 = 𝑥2 − 3𝑥 + 2 in the vicinity of x=0 using Newton-

Raphson method [5 iterations required]. 

 তিউটি-যণা ফসি পদ্ধতি বযবহার করর x = 0  মারির সতিকরট 𝑓 𝑥 = 𝑥2 − 3𝑥 + 2 সমীকরর্টির বীজ তির্ণারি 
কর। 

5. Perform the following binary addition (a) 1011 and 1100 (b) 1010 and 1111. Write a 

program for calculating the pressure of an ideal gas at fixed n, T and V. 



 
 

 িীরচ্র বাইিারী সাংরযাজিগুত঱ সম্পািি কর - 
(a) 1011 এবাং 1100  (b)  1010  এবাং1111.  

তির n, T এবাং V এর লরিণ  একটি আিণল গ্যারসর চ্ারপর রাতলমা঱া তির্ণরয়র জিয একটি উপযযক্ত ছপ্রাগ্রাম রচ্িা 
কর। 

6.    𝑦2 = 4𝑥 and 0.1% error is incurred for 𝑥. Calculate the percentage error involved in 𝑦. Draw 

a plot for the function  𝑦 = 𝑒−𝑥2
 with proper reasoning. 

 𝑦2 = 4𝑥 এবাং x এর মারি 0.1% ত্রুটি আরে। y এর মারি লিকরা ত্রুটির মাি তির্ণয় কর। 

          𝑦 = 𝑒−𝑥2অরপক্ষকটির জিয যথাযি বযািযাসহ একটি ছ঱িতচ্ে অঙ্কি কর। 

7. Evaluate the result of (110110 – 10101) in binary form. Write a program to find the sum of 

squares of 1 to N integers. 

 বাইিারী পদ্ধতিরি (110110 – 10101) এর মাি তির্ণয় কর।1 ছথরক N পযণযন্ত পযর্ণ সাংিযার বরগ্ণর ছযাগ্ফ঱ তির্ণরয়র 
জিয একটি ছপ্রাগ্রাম রচ্িা কররা। 

8. Calculate the mean and median of the following data: 

 19.4,19.5, 19.6, 19.8, 20.1 and 20.3.   

        Sketch the curve 𝑦 = 𝑥2 − 9 with axes and points. 

 তিম্নত঱তিি সাংিযা গুত঱র গ্ড় ও মর্যক তির্ণয় কর। 

 19.4, 19.5, 19.6, 19.8, 20.1 এবাং20.3।  

        𝑦 = 𝑥2 − 9 এর অক্ষ ও তবন্দযসমূহ তিরিণল করর একটি িসড়া ছ঱িতচ্ে অঙ্কি কর। 

9.  What are bits and bytes? Define relative error with suitable example. Convert decimal 15 to 

binary number. 

 তবট্ এবাং বাইট্ কারক বর঱? উপযযক্ত উিাহরর্সহ আরপতক্ষক ত্রুটির সাংজ্ঞা িাও। িলতমক পদ্ধতির ১৫ সাংিযাটিরক 
বাইিারী সাংিযায় পতরবিণ ি কর। 

10. Write a program to find the roots of equation 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 

 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 সমীকরর্টির বীজ তির্ণরয়র জিয একটি উপযযক্ত ছপ্রাগ্রাম ছ঱রিা। 

 


